
 



JMC vLearning 
© 2020 JMC Jayasekera Management Centre (Pvt) Ltd  1 

• 

• 

• 

• 

E-{1,2,3,4,5,6}

• 

E={(HH),(HT),(TH),(TT)}

{ }

{ } { }

{ } { }

{ } { }

{ }  {   }

{ } { }

• 

• 
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𝑷(𝒔) =
𝒏(𝒔)

𝒔(𝑬)

• 

( 0 ≤   𝑃  ≤   1 )

• 

∑ 𝑃 = 1

∩

Shaded Area A ∩ B

A∩B  represent the event that both A and B occurs at once.  

A ∪ B

E=

Shaded Area A ∪ B

 A∪B represents the event that either A or B occurs (At least one event)

= 𝜋𝑟2
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E=

Shaded Area A ∪ B 

 

 

 

 

 P(K)

 P(C)

 P(K∩C)

 P(K'∩C)

 P(K∩C')

 P(C')

 

 

 

 

P(A∪B)=P(A)+P(B) - P(A∩B)



JMC vLearning 
© 2020 JMC Jayasekera Management Centre (Pvt) Ltd  4 

 P(A ∩ B)

 P(A')

 P(A' ∩B)

 P(A'∪B)

 

 

 

 

 

 

P(A∩B)=P(A)P (
B

A
)

P (
B

A
)  =Probability of B, given A

P(A∩B)    =    P(A)P (
B

A
)

P
(A∩B) 

P(A)
 =     P (

B

A
)
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P (
B

A
) =

(A∩B)

P(A)
                      P (A)  ≠ 0

P (
A

B
) =

P(A∩B)

P(B)
                    P (B)  ≠ 0

5

8
                      R1               

4

7
          R2

 

3

7
             B2 

 
5

7
                R2

   
3

8
                      B1

3

7
                B2

 

P(𝑅1)=
5 

8
 

P(𝐵1)=
3 

8
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P (
R2

R1
) =

4 

7
 {Second marble is Red given that First marble is Red}

P (
B2

R1
) =

3 

7
 {Second marble is Blue given that First marble is Red}

P (
R2

B2
) =

5 

7
 {Second marble is Red  given that First marble is Blue}

P (
B2

B1
) =

2 

7
 {Second marble is Blue  given that First marble is Blue}

 

 

 

 

 

P(𝑅1∩𝑅2)=P(𝑅1)P (
𝑅2

𝑅1
)

=
5

8
×

4

7

P(𝑅1∩𝑅2) = (
20

56
)

 

P(𝑅1∩𝑅2)+P (𝐵1 ∩𝐵2)

P(𝑅1)P (
𝑅2

𝑅1
) +P(𝐵1)P (

𝐵2

𝐵1
)

(
5

8
×

4

7
) + (

3

8
×

2

7
)

20

56
+

6

56

P(𝑅1 ∩𝑅2)+P(𝐵1∩𝐵2)=
26

56
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P(𝑅2)=P(𝑅1∩𝑅2)+P(𝐵1∩𝑅2)

=P(𝑅1)P(𝑅2/𝑅1)+P(𝐵1)P(𝑅2/𝐵1)

P(𝑅2)= (
5

8
×

4

7
) + (

3

8
×

5

7
)

(𝑅2)

P(𝑅2)=
35

56

 

P= (
𝐵1

𝑅2
) =P (

𝐵1∩𝑅2

P (𝑅2)
)

= (
3

8
×

5

7
) ÷

35

56

(
𝐵1

𝑅2
)
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P(A∩B)=P(A)P(B)

P (A∪B)=P (A)+P(B) -P(B)
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E=

P(A∩B)=0

P(A∪B)=P(A)+P(B) 

 

 

 

 

 

E={1,2,3,4,5,6}

E={X/X=1,2,3,4,5,6}

E={(HHH),(HHT),(HTH),(THH),(TTH),(THT),(HTT),(TTT)}

E={X/X=0,1,2,3}

 

A
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E (X)= ∑ x P(x)

Var(x)= ∑ x2P(x)  - {𝑬(𝒙)}𝟐

Standard Deviation=√Var(x)

P(x)=K(1-x)                  X=0,1

=K(x-1)                X=2,3

=0

  

K=
1

4
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• 

• 

• 

• 

    ( ϱ)

P(a<x<b)= ∫ P(x)

b

c

dx

P=(a<x<b)=area of normal  curve in between X=a and X=b

•
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• 

• 

• 

Z≈N (0,1)

Z= (
x-μ

σ
)

 P(Z > 1.0)

 P(Z < -128)

 P((-1.96 < Z < 2.33)

 P(Z > -2.58)

 P(Z < 1.65)

 P(x > 6)

 P(x < 38)

 P(25 < x < 58)

 P(x > 23)

 P(x < 76)
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 𝑋0

𝑋0

 𝑊0

𝑊0

𝜇
𝜎

𝜇   𝜎


